BF(—F) Lfib—F Ak
A

& & C
£LAESST A 8EREY5T g
B 8 E(T) 3 —l — 4 HEEEB) 9
A2 2 | (L], B (P) 10
— — 3 BRAVE 11
EsP) c2 A2 BERAS
A EEE(C) D2 - B2 WE=300+F0
B & & D
HEBIEA) 1 — 3 R ES 12
OVERLIGHT 4 — r 2 A EEE(C) 13
REE300¥F0O 2 un |— 1 HRER 14
B2 IR X 3
BF (—88) FRib—F ATk
A & & C
ELNEISD —‘ T BETEIST 8
B EBE) 3 — H & BEB) 9
2RER J — — fE=rP) 10
— 3 BRAVE 11
HEE/EB) c4
5 = ] B4 OVERLIGHT
B SR IE(A) — = =
OVERLIGHT — — 3 BERR 12
wE=300%0 — |_ H Ei8E(C) 13
B % B ARAR K 3 L HRER 14




BF (Z&B) LI b—F A b

Shinataku(A)

1]

L | L] |

1] [T

A [
1 BRR 1
2 SOT 2
3 Collins 3
4 J\EIZE 4
TUS(B) G2
74— H2
B ]
TUS(A) 1
twF432 2
=S 3
C [}
ftE=(B) 3
o)L 2
10 Northvalley 1
—%9357 E2
FTTC F2
D ]
11 ES | 2
12 Shinataku (B) 3
13 UNITE 1

L |

%%(:’&B)'Iiﬁb—d-xyb

I

ERR

SOT

#itE=(B)

[ 1]

Collins

Al WIN]| -~

INHFE

L1 1 |

B

I

TUS(A)

3

#ILEM)IER

C

I

fE=(B)

I

[T

10

Northvalley

D

I

11

=H

12

Shinataku (B)

L] ] L1 ] L |

13

UNITE

[T [T [ 1]

[} E
1 Shinataku(A) 14
2 —Bk957 15
3 U R—ILXEAS 16
C2 Yy
D2 |
[ F
1 IT14—=(A) 17
3 SHIP 18
2 FTTC 19
[} G
1 L+ 20
2 TUS(B) 21
3 — B 22
A2 SOT
B2 59
g H
3 Overlight 23
1 BRAVE 24
2 S5TA—IL 25
JIE E
Shinataku(A) 14
—¥k957 15
3 U R—ILXEANE 16
A4 JEZEE
[ F
IT714—=(A) 17
3 SHIP 18
FTTC 19
JIE G
A+h 20
TUS(B) 21
3 —BEk 22
JIE H
3 Overlight 23
BRAVE 24
S5TA—IL 25




BF (60F) Efip—FA b

A IE . IE B
=
1 TILRTFA 1 4g TAI— 2 JJ)LRTB 5
2 avkILo57 3 L 1 MD#E4& 6
3 HOE 4 — 3 ) —45 Ly 7
4 XEHST 2
A2 xEHST
S LASE o L IE C
— 1 JILRTC 8
— 3 At+h 9
HEEI>T c2 — — 2 KEEEYSD 10
BF(50F) FRIb—FAVE
A g
1 TJJ)LRTA -
n+Hh
2 avRILGST 3 TL
A4 FOES
3 FOE 4
4 =Ey57 .
B & & C
5 TJ)LRTB —I l— JILRTC 8
6 MD#g1& J L 3 A+h 9
7 ) —5 L 3 REEEIST 10




BF(60F) EGib—F AUk (1I0FF—LED)

A

IIE

LREES

1

N

ToUYR

3

BHR=B

2

my57

4

BREA

C2

BERR

F—LTAISHO-88#H570

D2

B

IIE

BEREHRATIVUR

A+h

BRAFE}I5T

BF(60F) Fhrb—F Ak

A

IIE

LREES

N

FZINR

IIE

C

BRZ=A

[o9)

KIERMFE

F#s57

10

A2

BEREB

T=UvA

B2

MEERATIUR

IIE

D

HHoo0R

F—LTAISHO-858HH50

12

<T4—=B

13

BEREB

my57

BF (70F) R

F#o57

F#y57

A4

my57

IIE

B

MEERATIUR

A+

1T 1

BRFEI57

<T4—=B




ZF (—8) Lfub—F Ak

A & & B
gk A
1 g 1 —| ERe |— 1 —HH5T 4
2 OVERLIGHT 3 J L 2 BEEB) 5
3 HERER 2 3 ME=Q) 6
BE=B) B2 A2 HERER
ZF (—8) FHLb—F Ak
A & & B
1 =8 53 —‘ °V|ER"'G‘“T r —¥%957 4
2 OVERLIGHT 3 J L BEEB) 5
3 HREL 3 MEE(G) 6
TF(Z8) EIb—F A
A & & B
1 At R 1 —| Atn |, Sge 4
2 =H(B) 2 1 SHINATAKU 5
. J ]
3 £oZA 3 — 3 RYXE 6
{4 FoEA(C) 7
HEAS B2 A2 =ZB)
TF(ZE) Fhrbk—F Ak
A & & B
: Ath —I RX= Se 4
2 =H(B) ‘ — SHINATAKU 5
3 £oZA 3 3 RYXE 6
— FoZA(C) 7

ES=Y V(O

B4




ZF(50F) EHib—F A

A g 9,__‘(’41_\ g B
1 THINK &435') X 1 = |— 1 FaA L 5
2 L+ 2 — L 2 HEHRESSTA 6
3 EISES 3 3 HRER 7
4 BE4IESST (C) 4
A2 A+
S PESTIA B2 {— = <
— 1 BEE-IBLT« 8
— 2 WESST 9
WEHSD C2 |— — 3 EiBIST 10
{4 A&EhESST (B) 11
ZF(50F) FELb—FAVF
A g
1 THINK &3S R —
SEBYST
2 n+h —
A4 HEHRESST (C)
3 SRS 3
4 HEHIESST (C) —
B g
5 FaALs IR c
- —I — SRS IIEL T o 8
6 HEGRESST
J — WES>J 9
7 HESER 3
— L 3 FBIST 10
HEHESST (B) c4 — BEhESST (B) 11




ZF (6048) Erb—F Ak

A IE IE B
£ 1 =MW — 1 BRR
KATSUSSD 2 — — 3 LAEH
NTTEIFS 3 — 2 TR
DEH 4 {4 HETTU5T
TR B2 A2 KATSUZSD
ZF(604K) THRIb—F A
A IE ) IE B
- LATE sz
KATSUSSD — JF 3 LAEH
NTTEIFS 3 Jr — 7R
DEH — — HTTU57
HITTHO5T B4 A4 DZ H
TFIORRE)—
F—L4 1 2 3 4 Be| BE B
RS 30 | 30 | 30 |6 1
aVRV957 | 0-3 0-3 0-3 |3 4
g2 ALY | 0-3 3-0 2-3 | 4 3
BRES+2 0-3 | 30 | 32 5 2
1-4(2) 2-3(1) 2-4(3)
1-3(4) 3-4(2) 1-2(3)




